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Name: ______________________________________   Date: ________________

Grade 8 
Summer Math 
Please use white lined paper for your work. Please copy the original problem on your paper. Show all work if the questions ask you to do so, and then box in your answers. If you are asked to choose the letter of the correct answer, please make your letters clearly on the white paper.  Please take the time to write your numbers or letters neatly on the lines of your paper.  YOU MUST SUBMIT YOUR WORK ON THE FIRST DAY OF SCHOOL or you will receive NO CREDIT! Make sure that your name appears on your paperwork!
Use <, >, or = to compare the numbers.

1.
0.26[image: image81.jpg]


0.026


2.
The electric company sent out a graph to compare electricity usage in kilowatt-hours for the years 2002 and 2003. The graph shows the usage for a particular household for two years.
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During which month was the difference greatest between the kilowatt-hours for the two years? Explain your answer.
Evaluate the expression for the given value. Show your work!

3.
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 for d = 8

Simplify. Show your work!

4.
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Find the area of the figure. Show your work!

5.
rectangle: l = 5.1 m, w = 3.3 m

Write the number in scientific notation.
 Identify the choice that best completes the statement or answers the question.

6.
4,185

	A.
	[image: image8.png]41.85 x 102




	C.
	[image: image9.png]4.185 x 10*





	B.
	[image: image10.png]4.185 x 102




	D.
	[image: image11.png]4.185 x 10°







7.
0.00000199

	A.
	[image: image12.png]0.199 x 107°




	C.
	[image: image13.png]1.99 x 107¢





	B.
	[image: image14.png]199 x 107




	D.
	[image: image15.png]199 x 1078







8.
Which set of numbers does NOT contain an irrational number?

	A.
	[image: image16.png]


, [image: image17.png]W19




, –8.15
	C.
	–0.6868..., [image: image18.png]


, [image: image19.png]




	B.
	[image: image20.png]


, [image: image21.png]144




, 6.6
	D.
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, –1, [image: image23.png]






9.
Which of the triangles described in the table is a right triangle? Remember the formula!


Show your work!
	Triangle
	Side 1
	Side 2
	Side 3

	Q
	25
	20
	15

	R
	26
	20
	46

	S
	25
	20
	1,025

	T
	25
	26
	650



10.
The map of Libertytown below uses a coordinate system. Suppose you work at the Visitor Center, which is located at (0, 0). How would you give someone directions to the movie theater? For example, to get to the bank, go 5 blocks east and then 2 blocks north.


Identify the choice that best completes the statement or answers the question.
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	A.
	Stay on Shore Road and go 5 blocks north.

	B.
	Stay on Shore Road and go 5 blocks south.

	C.
	Stay on Shore Road and go 5 blocks east.

	D.
	Stay on Shore Road and go 5 blocks west.



11.
Translate P(1, –2) right 2 units and up 1 unit. Give the coordinate of the image point.

12.
Two ladders are leaning against a wall at the same angle, as shown.

[image: image25.png]



How long is the shorter ladder?


Show all the steps in your work!


13.
The dashed figure is a dilation of the original figure. Find the scale factor. Classify the dilation as an enlargement or a reduction.


Identify the choice that best completes the statement or answers the question.
[image: image26.png]



	A.
	scale factor [image: image27.png]


, reduction
	C.
	scale factor 3, enlargement

	B.
	scale factor 4, enlargement
	D.
	scale factor [image: image28.png]


, reduction


                   Write the decimal as a percent. 

                  Identify the choice that best completes the statement or answers the question.

14.
0.38

	A.
	38%
	B.
	0.038%
	C.
	380%
	D.
	3.8%



15.
Why do you move the decimal point two places to the left when you convert a percent to a decimal?


Identify the choice that best completes the statement or answers the question.
	A.
	It is a shortcut for multiplying by 10.

	B.
	It is a shortcut for dividing by 100.

	C.
	It is a shortcut for dividing by 10.

	D.
	It is a shortcut for multiplying by 100.


Write the percent as a decimal.
                   Identify the choice that best completes the statement or answers the question.

16.
96.55%

	A.
	9655
	B.
	965.5
	C.
	0.9655
	D.
	9.655



17.
Estimate 47% of 251 using fractions. 


Show all the steps in your work!

Find the given percent of the number.


Show your work!


18.
71% of 67



Find the percent of increase. Show your work and round to the nearest tenth of a percent where necessary.

19.
The owner of an audio store received a shipment of portable stereos at a cost of $102.30 each. If he sells the stereos for $181.99 each, what is the percent of markup? Round to the nearest whole percent.


20.
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The number of registrations by breed in the Clover City Kennel Club is summarized in the graph above.

	a.
	What is the probability that a registered dog is a Labrador Retriever or a German Shepherd?

	b.
	If there are 425 dogs in the club, how many dogs are a Labrador Retriever or a German Shepherd?


                 Identify the choice that best completes the statement or answers the question.
	A.
	56%; 238 dogs
	B.
	53%; 225 dogs
	C.
	50%; 213 dogs
	D.
	46%; 196 dogs


                     Solve the inequality. Show the steps in your work!


21.
[image: image30.png]12p < 96





22.
Zoe makes $7.75 an hour working at Warner’s Autobody. She plans to buy a hand-held computer. The least expensive hand-held computer that she can find costs $255.75. How many hours h will Zoe have to work to earn enough money to buy the hand-held computer?


Identify the choice that best completes the statement or answers the question. Show how that choice is the  

                   Best  answer.
	A.
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	C.
	[image: image32.png]775k = 25575, h = 34, 3 hours





	B.
	[image: image33.png]775k = 25575, h = 33, 33 hours




	D.
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23.
Name two streets that form an adjacent angle with McAllister and Jones.


Identify the choice that best completes the statement or answers the question.
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	A.
	Market and McAllister
	C.
	7th and Golden Gate

	B.
	Golden Gate and Market
	D.
	7th and Madison



24.
In the diagram, p || q. Find the measure of each numbered angle. 
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            25.
If ABCD is congruent to PMNO, then identify the choice that best completes the statement or answers the  

                   question.
[image: image37.emf]
	A.
	BC  AB
	C.
	BC  MP

	B.
	BC  NO
	D.
	BC  MN



26.
[image: image38.png]L0 = L5



 and [image: image39.png]OR = SR



. Select the correct congruence statement for the two triangles. What rule proves the congruence?


Identify the choice that best completes the statement or answers the question.
[image: image40.emf]
	A.
	QPR RTS; ASA
	C.
	QPR STR; SAS

	B.
	QPR STR; ASA
	D.
	QPR RTS; SSS



27.
A porthole on a ship has a regular hexagon placed in a circular frame. What is the measure of each interior angle? Use the formula (n-2)180. Show the steps in your work!



Identify the choice that best completes the statement or answers the question.
	A.
	60º
	B.
	120º
	C.
	720º
	D.
	90º



28.
A trapezoid has an area of 160 cm[image: image41.png]


. The length of one base is 20 cm and the height is 10 cm. What is the length of the other base? Show your work!

29.
What type of construction does the diagram below show?


Identify the choice that best completes the statement or answers the question.
[image: image42.png]



	A.
	congruent segment
	C.
	congruent angle

	B.
	perpendicular bisector
	D.
	angle bisector


                   Find the volume of the solid to the nearest unit. Show your work!


30.
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31.
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32.
Use the figure above. Name a line segment that is skew to NP.


Identify the choice that best completes the statement or answers the question.
	A.
	PR
	C.
	NP

	B.
	QR
	D.
	PS



33.
Make a histogram for drivers’ ages using the data from the table below.

	Drivers’ Ages
	

	Age
	Frequency
	Fraction

	17–19
	2
	

	20–22
	3
	

	23–25
	5
	

	26–28
	6
	



34.
The graphs below show the number of honor-roll students in each grade at Ferndale Middle School. Which statement is true?


Identify the choice that best completes the statement or answers the question.
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	A.
	The two graphs are exactly the same.

	B.
	The two graphs use completely different data.

	C.
	The scale on the second graph does not distort the lengths of the bars.

	D.
	The scale on the first graph gives the most accurate picture of the relative number of honor-roll students for each class.



35.
The graphs below represent the average number of rentals each day of the year at Shadydeal Videos. Which statement is true?


Identify the choice that best completes the statement or answers the question.
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	A.
	The vertical scale on the first graph is misleading because it starts at zero.

	B.
	The horizontal scales on both graphs are misleading because the odd-numbered years are not clearly labeled.

	C.
	The second graph exaggerates the change from year to year.

	D.
	none of these



36.
The graph below shows the market shares of various juice companies that sell orange juice. What values are represented by the break symbol?

                   Identify the choice that best completes the statement or answers the question.
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	A.
	0% to 5.9%
	C.
	5% to 9%

	B.
	2% to 8%
	D.
	0% to 3%



37.
The stem-and-leaf plot below could NOT represent which of the following?


Identify the choice that best completes the statement or answers the question.
	1
	1  2  2  7  7

	2
	1  4  4  7

	3
	3  5  6  8  9

	Key: 3 | 2 means 3.2


	A.
	the average number inches of rain in June

	B.
	the height of plant seedlings, in inches

	C.
	the weight of phonebooks, in pounds

	D.
	the height of NBA basketball players, in meters



38.
The scatter plot below shows the population of a village (P) over time (t). Describe the relationship between the population of the village and time.


Identify the choice that best completes the statement or answers the question.
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	A.
	The population remains roughly the same over time.

	B.
	The population is increasing over time.

	C.
	The population is decreasing over time.

	D.
	none of these



39.
Pat recorded the weights of the first ten fish she caught and released at Mirror Lake this season. The weights were 8 lb, 6 lb, 9 lb, 6 lb, 7 lb, 5 lb, 7 lb, 6 lb, 23 lb, and 6 lb.

Find the mean, median, and mode.


40.
22.6 is an outlier for which of the following sets of data?

            Identify the choice that best completes the statement or answers the question.
	A.
	22.6, 21.5, 23.7, 22.6, 28.9, 22.6, 20.9

	B.
	2.4, 5.3, 3.5, 22.6, 1.8, 2.1, 4.6, 1.9

	C.
	20.5, 20.8, 21.6, 22.6, 23.7, 24.5, 25.1

	D.
	13.6, 31.7, 25.8, 22.6, 18.9, 21.6, 30.5



41.
The graph below shows your speed at different times riding a bicycle uphill, downhill, and on level pavement.
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	a.
	For how long were you going uphill?

	b.
	For how long were you going downhill?

	c.
	For how long were you riding on level pavement?



42.
Which is a table of values for [image: image53.png]


? Show work that explains your answer choice.
	A.
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	D.
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43.
Use the function rule [image: image58.png]


. Find the output [image: image59.png]


. Show your work!


44.
The sale price of ground beef at a local grocery store is $1.49 for the first pound and $1.09 for each additional pound. Write a function rule to show how the cost y of ground beef depends on the number of pounds x.


Identify the choice that best completes the statement or answers the question.
	A.
	[image: image60.png]y = 1.49x + 1.09




	C.
	[image: image61.png]y = (1.09 + 1.49)x





	B.
	[image: image62.png]y = 1.09(x - 1)+ 1.49




	D.
	[image: image63.png]y = 1.09x + 1.49






Do the data in the table represent a linear function? If so, write a rule for the function.

45.

	x
	–3
	–2
	–1
	0
	1

	y
	1
	–2
	–5
	–8
	–11


Write the expression using a single exponent.

46.
[image: image64.png]



Write <, >, or = to complete the statement.

47.
[image: image65.png]
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Short Answer – choose 3.
Write the numbers in order from least to greatest.

48.
5.987, 5.109, 5.277, 5.246

49.
0.0126, 0.0105, 0.0103, 0.0102

50.
Is a 75° angle acute, right, straight, or obtuse?

51.
Use a protractor to draw a 115° angle. 

52.
Draw a double bar graph of the data given.

	Pounds of Fruit Sold at the Cafeteria

	Week
	1
	2
	3

	Apples
	16
	5
	16

	Bananas
	6
	6
	8




53.
Find the value of the expression for the given values of n.

	n
	[image: image68.png]n





	9
	[image: image69.emf]

	12
	[image: image70.emf]

	14
	[image: image71.emf]

	17
	[image: image72.emf]

	19
	[image: image73.emf]



54.
Use a factor tree to find the prime factorization of 45.

55.
Write 1.95 as a mixed number or fraction in simplest form.

56.
Copy [image: image74.png]AABC



. Graph the image after the triangle is translated 3 units to the left and 2 units down.
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57.
Tell whether the pair of triangles is similar. Explain why or why not.
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58.
Why is the graph misleading? 
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59.
Use the sequence: 2, 1.5, 1, 0.5, . . .

	a.
	Find the common difference in the arithmetic sequence.

	b.
	Write a rule for the sequence.

	c.
	Find the next three terms.


Essay – Choose 1

60.
What are adjacent angles? Include a diagram.

61.
Why is the absolute value of a number always positive?

62.
When you divide a negative fraction by a whole number, will the answer be greater than or less than the negative fraction? Explain.

63.
The number 50 is increased by 50%. The result is then decreased by 50%. Is the final result 50? Explain.

64.
Describe the similarities and differences between a triangular prism and a triangular pyramid.

65[image: image79.png]


.
The graph below shows the speed of a city bus on its daily route. Explain each labeled section of the graph.
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